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Question 1
3509(3980L Mm3hozmeo Lobhgdgdel oz0Be 336)0 333mbgbhgdos?

Select one:

a. 356mgol 36m3z63980; Hoghneo o 303cmGo LobgEmboBozaol 3gmmgda, 3mByhoieol bobgmagde.
b. Lgdgon®o ooglotrogde, gothmocmmo 3bhgobgergde, hgamg3mBnbosnol do&mgel dugemo

C. bogy®obldmEhm Jugamel Egliyélgde, Jugemn®o 3306d9d0, $an03960 (HEghgdo

d. 800363@0 33@@03Q3db36860, 3(\05306@0’)6060, mB(iJo 3360 33@003@3{‘][)36360, m300 3360
306@03636@880, 60@03330[) 6060300, 33360[} 6@0’)3360

Question 2

©0m0 606[)[)303@06006 mB(bosnéo bo@éo&ﬁmé@m dba@abob 3(*)@3@860?

Select one:

a. bbsé@ébbSO 6030[) %080336)0 606)880’)[} 808(")88682)0(7), 8\)@0[}08{]80 0603(’06)8\)800[) bobgmbgbom,

b. bogmanooeom 3306606000, 0660602’()[’ 60336000, 60@0(‘0065360[) So:gadd)némbom, 8\)300835363@0 m3003’36)n
Bmé 30')860[5 60(\0@06006000, 333&)[} 6@00 38&)[) bBSBooso 336@6000.

Cs ogémédoa@o Q)msaabob 60(*)@35005000; 80@03330[) 330)(*0@32)000; bb@éonBmt‘:@m 63[)36[)3?)0[)
3m8bdoergdemolivmgal 3gmogedgdol 6990800; 3996098900l go8mygbgdol go3gdhnémdon; googedgdnamo
booéosb&néom 63b36b850b 3(*)33@«76000.

d. 3006(580686860[50 (N 3363@3&)[5 gémmB@ombgbom, 3(*05@30536360[) 80@030&30[) boagowgbgbom, dba@ob
oﬁdo@gd@némm.

Question 3
65300960 330 h0/63 -00 g3erm3ymo 0géoégool 0éggeme mbob 3gbsdo8olo 633500l gocodgdel LoRdotg?

Select one:

a. 2088 330()0/63.
b. 2048 330¢)0/68.
C. 2512 3do¢o/63.
d. 2148 3d0c0/63.

Question 4
6«)6006 8‘)33“%6’“’“’ owbodgbs STM?

Select one:
a. bosdé)m[;g@o 0605b3m6¢06350b dmeeyemo.

b. bobhgdol ©6H™000 dobobovsmgdgemo.

C. LogmAyhopom hggdbozob 39bg3396¢h0.
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d. Lobghgdol (l)éood(l)ob 398mdgo.

Question 5
65300960 do60cdo (30036 96bo godadobgds STM-1-00, oy goco03g3> dbmemme E1 65350007

Select one:
a. 4096.
b. 1890.
c. 1024.
d. 8448.

Question 6
603@360 500@00 STM-4-0b 30 3@30?

Select one:
a. 2224.
b. 6400.
c. 1048.
d. 9720.

Question 7

60l 603bogl obodgbs L — 16.27

Select one:

a. gb 60dbogl, M3 3o8mygbgdymos gédgemo boBo; STM-16-0b cmby; ool bogédg 1550 63;
™3hognéo dmdsm G.653.

b. gb 60363, 603 godmygbgdymos gédgeme bodo; STM-16-0b mby; dhoeowmol Logédy 1310 63;
™3hognéo dmdsm G.653... G.655.

C. gb 603bogl, BB godmygbgdnemos M 39eY&o Jugemolb GmBgemodg BodoGoyemgds.

d. gb 608bogl, Gm3 go3mygbgdnemes - géadgamo bodo; STM-16-0b comby; hoemmol Logérdg 1550 63;
™3hognéo dmdsm G.652.

Question 8

65300960 38 0dbgdo 693969606980l 8mbo 33900l Logérdy V = 64.2 obhgeoggobobomgels, oy goed|3gd0l
Lo8demogeol Embg PS = 12 3L 935600l o boBob 8ogtagdol Bgéhoemdn; 08mgdal boddemog&ols
©mbg 93060t mE0ls o bodol ogemgdel Bgéhoendo, Pr =-24 ©db; cobdgébonmme 30633930L Loddemogéy
Pd = 2 db; gb9639thognemo 3o60g0 93060t néol 3dggemgdal (odgégdol) gomgommalibobgdolomgol
(3°003(3980L 8ogdLoBocmyo o doboBocmyo Loddemog&ol Embggdl BmEnl Lbgomds) Me = 33, 8m(3g8nemo
ool Logédgdy somm3ghemoe Bomggs AC = 0,2 d/33; 806530 ©3B0sbgdodg Am = 0.05¢0d/ 337

Answer:‘

Question 9
65 dotr00o0 35Bg9b98cmgd0m bobosmogds 3&:0’:@0@@0050 ™3ho 3360 3oo3990L Lobhgdgoel 06(1)86%30%60?

Select one:

a. gb 06036%30%50 boboomegos 3vexdo godogoemo Logboemgdol @06030360 ©00358mboo (oo 30 3%od®m6mm.



b. gL 0bhgégoligdo bsbosoogds & doemmgdol Logédggdel osdsBmbom, m3h0gnéo g3osd(3930L Loddemog&ols
™60, ™3tho3néo Logboemol 308mgdol 80baBocmytro 836dbmdgmmmdnm, godmbbaggdal dmeyemozool bsboo,
Lobodm 3me0o oo ©.3.

C. gb 050360[330[)360 bobosorcogde 806@036)360[) 30930(3096¢h00d > Logboem - bgemdgdemol ogotromdoom.
d. gb 050360330[)360 bobosoncegds LoboBm 3meol 330[}0360@ 33e0egdel dgbedemgdemmdono.



